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Incorrect: 14 locations were chosen for the stress measurements.
Correct: Fourteen locations were chosen for the stress measurements.
Alternative revision: We chose 14 locations for the stress measurements.

Incorrect: p-‘ lc llb I og

irst, 10mlL of the samp
was observed.
Correct: First, 10 mL of the sample wathhe reaction mixture. A 10% change in temperature
was observed.
10mL

was added to the reaction mixture. A 10% chdnge in temperature
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Incorrect: the area of the sheet used was 9 X 6 mm?

Correct: the dimensions of the sheet used were 9 X 6 mm
Correct: the dimensions of the sheet used were 9 mm X 6 mm
Correct: the area of the sheet used was 54 mm?
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Incorrect: The flow rate was mL™. min~

Correct: The flow rate was mL.min~*

B9 sl b Jols” S (559 550 (5igs L

5L ol jan 3o b alaz (g1l )3 L L gd axd y sde O b &S Wsd azd g JolST b Sl Laid g S oIl gladsly

Incorrect: the velocity was measured in m/s.

Correct: the velocity was measured in meters per second.

Incorrect: Nine N-m of torque was applied.

Correct: Nine newton-meter of torque was applied.

Better: We applied 9 N-m of torque.
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Incorrect: In order tg produ kgo alumiﬁjlr.n, approximately 6.25 kg of recy are needed.
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Correct: In order to produce 1 kg of aluminum, approximately 6.25 kg of recycled cans _is needed.
Incorrect: in this experiment, 2 mg of the extract were dissolved in 20 mL of water.

Correct: in this experiment, 2 mg of the extract was dissolved in 20 mL of water.
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